
What IR peak (dilute solution) would be expected for the
 indicated functional group in the molecule below? 

 A. intense stretch at 3620 cm-1 

 B. intense stretch at 1580 cm-1 
 C. intense stretch at 1700 cm-1 
 D. intense stretch at 1650 cm-1 
 E. intense stretch at 1780 cm-1 

What IR peak (dilute solution) would be expected for the
 indicated functional group in the molecule below? 

 A. intense stretch at 3620 cm-1 

 B. intense stretch at 1580 cm-1 
 C. intense stretch at 1700 cm-1 
 D. intense stretch at 1650 cm-1 
 E. intense stretch at 1780 cm-1 

What IR peak (dilute solution) would be expected for the
 indicated functional group in the molecule below? 

 A. intense stretch at 3620 cm-1 

 B. intense stretch at 1580 cm-1 
 C. intense stretch at 1700 cm-1 
 D. intense stretch at 1650 cm-1 
 E. intense stretch at 1780 cm-1 



A) benzyl alcohol 
B) 1,4,6-heptatrien-3-one 

C) 2,4,6-heptatrienaldehyde 
D) benzaldehyde 

Identify the compound from the IR above. 

Identify the compound from the IR above. 

A) 4-phenylbutanaldehyde 
B) phenylpropyl ketone 

C) meta-isopropylbenzaldehyde 
D) 1-phenyl-2-butanone 

A) cyclopropanone 
B) propynol 

C) 2-cyclopropenol 
D) 1,2-propadienol 

Identify the compound from the IR above. 



Identify the compound from the IR above. 
A) N-methylacetamide 

B) N,N-dimethylformamide 
C) 3-aminopropanal 

D) N-methylamino-ethanal 

ortho meta para 
A) I II III 
B) II I III 
C) I III II 
D) III II I 

A)  methylbenzoate 
B)  phenylacetate 
C)  p-anisaldehyde 
D)  o-anisaldehyde 

Identify the compound from the IR above. 

Which peaks will be lost and gained during the following transformations? 

   

A.  Loss of broad peak between 3200-3600 cm-1 
B.  Gain of peak between 2100-2200 cm-1 
C.  Loss of peak between 500-600 cm-1 
D.  Gain of peak between 3200-3600 cm-1 
E.  Gain of peak between 1600-1700 cm-1 
F.  Gain of peak between 1680-1750 cm-1 
G.  Gain of peak between 500-600 cm-1 
H.  Gain of peak at 3300 cm-1 
I.  Loss of peak between 1680-1750 cm-1 
J.  Gain of peak between 3000-3100 cm-1 

A.  I = A, F; II = D, I;  III  =  F, A ,J; IV = C, B, H 

B.  I = A, F; II = A, E; III =  A, E, J; IV = B, C, H 

C.  I = I, D;  II = F, A; III =  F, A, J; IV = B, C, H 

D.  I = I, D;  II = A, E; III =  A, E, J; IV = C, B, H 

E.  I = I, D;  II = A, F; III =  A, F, J; IV = C, B, H 




